
■Construction

■Number of spacers used for each glass

Hinge

Catch

Spring washer

Phillips truss machine screw 
M3X6

Glass retainer A
Adjustment roller

Glass retainer A

Spacer

Retainer plate A

Spring washer

Phillips truss machine screw M6

Slotted countersink of the main body
Catch adjusting screw hole

Vertical adjustment

754507 series shown above is 
available in 3 finishes; 
75457131 (Gold) 
754507140 (Chrome) 
754507195 (Satin Nickel)

Read all instructions carefully for proper installation.

5mm thick glass 6mm thick glass 8mm thick glass
3 pieces 2 pieces Not used.

■Hinge installation
1 Prepare both panels of glass according to the processing shown above.
2 Referring to the illustration above, assemble the parts, and securely fasten the glass door with the Phillips truss 

machine screw M6. (Note that the number of spacers is different depending on the thickness of the glass door.)
・Adjustment of glass door

Vertical adjustment :  Loosen the screw in two slotted countersinks of the main body and vertically slide the hinge. 
(Adjustable allowance: Vertically 2mm)

Horizontal adjustment : Loosen the Phillips truss machine screw M6, and horizontally slide the glass for adjustment. 
(Adjustable allowance: Horizontally 2.5mm)

ガラス加工図（寸法単位はmm）

25

30

GH-450G
側面ガラス穴加工

φ2
0

28A

9

φ12

取り付け前に本書をよくお読みください。

■部品構成

■ガラス厚別スペーサー使用枚数

■丁番の取り付け
１  本体長皿穴2ケ所を側板取付位置に合わせて、取付ねじでねじ止めします。
（丁番本体の取付用ねじは付属品ではありません。呼び４皿タッピンねじ、または、3.8皿木ねじをご準備ください）

2  上図を参考に部品を組み合わせ、十字穴付トラス小ねじM6でガラス扉をしっかりと
　  固定します。（ガラス扉の厚さによってスペーサーの数が変わります。注意してください）
・ガラス扉の調整  

         上下調整：本体長皿穴2ケ所のねじを緩め、丁番本体を上下させます。（調整代は、上下2mmです）
         左右調整：十字穴付トラス小ねじM6を緩め、ガラスを左右に動かして調整します。（調整代は、左右2.5mmです）

3  ★の本体取付ねじをしっかり締め付けた後、キャッチをねじ止めしてキャッチの調整を行ってください。

■キャッチの調整（GH-456N、GH-450Gには付いていません）
キャッチを使用する場合は、キャッチの取付ねじを緩め、キャッチの位置を前後に移動させてキャッチ力を調整してくだ
さい。

丁番本体

キャッチ

スプリングワッシャー

十字穴付きトラス小ねじM3×6

ガラス押えA
調整コマ

ガラス押えA

スペーサー

押えプレートA

スプリングワッシャー

十字穴付きトラス小ねじM6

5mm厚ガラス 6mm厚ガラス 8mm厚ガラス
3 枚 2 枚 使用しない

本体長皿穴
キャッチ調整ねじアナ

上下調整

極端にキャッチ力を強くすると、キャッチが破損する恐れがあるため、ご注意ください。
また、ガラス錠(No.1310GL、No.1310GLW等）を使用する場合はキャッチは必要ありません。

※丁番本体取付ねじ
GH-450／GH-456
：呼び4皿タッピンねじ
　または3.8皿木ねじ
GH-450Gは不要です。

ガラス丁番 GH-450/GH456N/GH-450G

GH-450型
GH-450G型

(18)

側
板

φ2
0

A
28

GH-456N型

(18)

側
板

側板内面

品　番 A
4.5
5.0

GH-450型
GH-450G型

品　番 A
5.0GH-456N型

2014.04　PRINTED IN JAPAN　0055-11

25

30

754507 series
Side glass 
hole processing

φ2
0

28
5

9

φ12

(18)

Glass processing drawing (Unit: mm)

Si
de

 b
oa

rd

GLASS DOOR HINGE   




